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p. 12  -  Next-to-last line change “7197.32” to “7917.32”

p. 13  -  Formula (1.12) in denominator change “
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p. 27  -  Example 1.12 in exponent of expression in solution change “2.6” to “
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p. 44  -  Exercise 23 based on material not covered until Section 1.8

p. 47  -  Exercise 46 change “
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p. 57  -  Last line of Table 2.1 change “8” to “4”

p. 116  -  In solution to Example 4.3 change “FV = 35” to “FV = 25”

p. 133  -  Second line after Section 4.7 header delete duplicate phrase “is that the annuity payments”

p. 134  -  Left side of formula (4.31a) change “
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p. 172  -  Formula (5.10) lower limit change “i” to “t”

p. 173  -  Equation above formula (5.11) in exponent of 
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p. 189  -  Exercise 30 line 2 change “year” to “semiannual period”

p. 242  -  Exercise 15 change “discount” to “premium” in both parts (ii) and (iii)

p. 260  -  6 lines from bottom change “investment” to “reinvestment”

p. 279  -  11 lines from the bottom change “purchaser” to “lender” and change “third” to “second”

p. 296  -  Second sentence after formulas at top change “
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p. 297  -  Move “(7.33)” to the right hand margin

p. 302  -  Exercise 21 change salaries paid from “2,000,000” to “2,200,000”

p. 414  -  Exercise 19(b) change “as it is earned” to “at the end of five years”

p. 444  -  Exercise 4 line 1 delete extraneous “1” just before “using”

p. 460  -  Formula (11.3) delete the “t” immediately after the summation sign

p. 493  -  Exercise 14 insert minus sign in front of “800”

p. 547  -  Exercise 15 change “12.6” to “12.7”

p. 614  -  Ch. 7 Nos. 42 and 48 switch the two answers

p. 614  -  Ch. 8 No. 11(b) change “$1882” to “$1898”

p. 616  -  Ch. 9 No. 7(b) change Nominal from “6.95%” to “7.00%”

p. 618  -  Ch. 10 No. 8(a) change “7.67%” to “7.96%”

p. 618  -  Ch. 10 No. 15(a) change “9.46%” to “9.64%”

p. 619  -  Ch. 10 No. 26(a) change “.006” to “.0006”

p. 619  -  Ch. 10 No. 28 change Maximum from “$129,459” to “$129,470”

p. 619  -  Ch. 11 No. 15 change answer for (b) from “20.74” to “139.24”




   change answer for (c) from “$98.24” to “$98.47”

p. 621  -  Ch. 12 No. 3(g) change “26.08” to “52.16”

p. 621  -  Ch. 12 No. 14 change “$9575.33” to “$9556.20”

p. 624  -  Ch. 13 No. 25 change “$8.80” to “$8.72”

“Rendleman” is misspelled on p. 533 (Example 12.12),  p. 549 (Exercise 29),  p. 622 (No. 27),  p. 622 (No. 31),  and  p. 642 (Index)
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